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- gce | omm | mmemm | ex |mss KIRAT 16.3 33.6

9] = (Yui) (i 9&“2®?7:¥T [FhzBd b L (ife) 2 EA (electricity) | [z E—FEi]
oW TAE— f i’ﬂzﬁk“f%\_(’:! B FE L. ke [RE—FER] #iHA
T, HEDEIZEZ LR Sy,

Today, I will talk about our life and electricity.

Can you *imagine your life *without electricity? When I *thought
about the question, I *found that I *depend on electricity for my life. For
example, I use electricity to use the *light, the *air conditioner and the

(D [RE-FER] #oTHREQHF [RRIEL] B ERICES LI,

C A ) IR2BOREANRLE . computer. I *couldn’t *come up with any *nonelectric things in my life. When

I *noticed that, _I ( A ). We have to think about our *present lifestyle
because it needs a lot of electricity.

To make a lot of electricity has problems. For example, *fossil fuels *such as
EZB) was surprised coal and oil to make electricity are *limited. To *solve (_Tthis problem. people
are doing some things. I will talk about two things. -

One thing is to *save electricity in our life. There are some easy *ways. For
example, *turning off the light *frequently is an easy way to save electricity.
*Cleaning the *air conditioner filter is also an easy way. If *all of the people in
Japan do these things, we can save a lot of electricity.

*Another thing is to use *renewable energy to make electricity. For example,

in my city, the *local government and some *companies *set up many *solar
panels on the *slopes of the mountains. *Solar energy is renewable energy.
Renewable energy does not *run out. *By using renewable energy, people can
save fossil fuels.

I think that to solve the problems about making electricity isn’t easy, but I
think that to know about the problems is the *first step to solve them. I want to
learn *more about the problems. Thank you.

VEEEAEL I 3
MEES | 5 (2) |
Fn?ggga) Ic%ig RBEEEIESIZ EA—ILD THRER(2)IZEFE2:BF E(take EEE (%) AR TE (%)
B C3) = = ST e ,Eﬁ‘ S I %: NS
H:‘.@IEE@ Zz_bhf_ EHRICE DV T B RSN BHTELVWEXFE(ILNTE WET 1 11 279
- gce | s | mmemm | ex | s KIEAF 22.2 23.1
E (Em) . SEOEIZAF Y PLARICKL T 4 (Tim) 2R [E A —n]
(hanami) =8> 720, EA—MEELILICLE L, 4 Vi, i@‘E!Zfi = @O
ETTHELL, RPN ERBEIHELBLTC. EA-NET 1 AICED T Wednesday, February 26
Lo [FRE] OHELEI LI [EA-N] FOTHE(D) ~@) 12, *From Eiji to Tim
RENBRENLFEROEEL AT, [EA -] 2R EEH S, Hello, Tim.
[FEx] What do you enjoy in *spring in your country? In Japan, many people do

hanaini in spring. Hanami is (1) ( 2% ) the popular events in Japan.
ChEROETE, BIAEELAT TR, ARTIE, FLOALPTRICER Hrehere Bloscarn,

ZLET. MRIBEATAZROHLGTROVEDTT, ERTIE. Axidik
DRERL L ERL AT T WHBBOBOT THRLLE~, BEFoLE

In hanami, people enjoy seeing ‘*cheny blossoms. They eat their *bento and

enjoy talking *under cherry blossoms. And they *often (2) ( 28 ) of

BLAETF. £LT. AsdE Cofiosisfy £, cherry blossoms.
CEETHE. A EVALAREFTERE LT, flii AETHEEE In Japan, people do ianami in *various places. For example, they do
L3T. Bidb a2 tEZ L WHEOEL RELWTT, b LbLRLTFSENE hanami in parks. Twant to (3) ( 28 ) beautiful cherry blossoms.
R LEnES. R ANt A ) DAEITERS LIcFaE Ly 3. @ (28 ) wantto do hanami this spring, let's go to my favorite park
to do it.
1F 25451 (2)take pictures Eiji

( (1)one of (3)show you (4)If you )
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